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Tx 5| Null<ces H5°, sin 45°% = [l <*Z/a | A3/2 Y - *__1
a2 W< ees (20°) , sin(-26°) D = |lwil <Cos 20°, -sin20°>
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‘é« P& = {2-3, 7-2> = <-1,57 |
F P: (315) ) Q: (‘1“—‘) ' B
P& = <1-3 -4-5> = <-2,-9> ‘,
e 5] 5<6,2> = <5:6,5-27 =<30,107 .
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- 4| Unit Veckor ey where V=<3,4%
s ev= | v . INI= {3 HZ—F‘S 56w 1Ay /3 1\
< VIl s \E 5/
S AL Uni veckel e maKing an_angle of 47 /7 with the x-owis
U e = Jos 1N sin 4T\ = <02, 047
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o | Find +he point P such that w= PR has Components €3,-2,%7 | and

sketth w.




Pz (%096, 20) => PR=<1-% M-y, 3-2,7 =<3, 2,35

)‘7(0:5 ,—-—-——~\‘:) Ogh‘ %)

L‘ -\fo — / (0,03) \\' \/4) G, 0\

5-2.=3 ! (—2,0W - B

¥0=-2,40%6.2,°0 D P=(-2,6,0) ey

13.

Let V= <"\ 3 \17 Which of e ¥o\low\nq veckors is 1l to v T Wk

po!n\’ in the Same o'lrec\won?

() €2,4,6% D (¥) salar muiple & U => 1) A Same dife cior :
(B) <-1,-2.3 => ot 1},

(c) <=7,-11, =201 => -7V =D 1, 2 opposite ditechon

(d\ G, 10,14 =2 not & Congtant multiple of =7 not A\,

S248, 10,37 + HE2, 107 = {=16,-22,-6 > + <B,H 1D

= <~ 8"18,-27

7%,
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=<3, ,v=<6,"2,87 =Y not 1\

Unit vecter in $he direction opposire to V= <-4 1,2 S ,

ey = - VNV g 1| = ,JZ'HY*'L\ZA- 22 = P -y T '_\_(‘L\,"lﬁ2>"'

vy b

-6 g /=6, 207 = K33 =23 -3

Find 2 (;{lQ \)e,d'or pParametrizahons of the line Mfouq\n P=(5,52)

W/ dir. vector V=40,-2,1>.

o) =<5,5,27+4£<0,-2,17

G(t) =<5,9,2) 4 Jc<0r201\07

Show thakr the lines 0 (£) = <-15,2,27+E4H -2 1Y R L, (A) =

{0,119 +4+<2,01Y do not intelSect.

They inderseck & Were exist parameter values £, & t, s.t.

{152,294, -2 = <0,11 )+ £,42,0,17

Clemb, 2-28, 244, = 2,,1, 144 -
-+ HE, =28, = -1:.;'=\/2 Equ‘AQ-\'\'ons do not have )_’
2-2£.=1 =2 1,7/, Solubons =7 2 )ines do

244 = 144, =+, 3, not intecsech




